( LPDOI Q(E'E? LPDOOOOOOD )
m ][]

gogogoo

Oooogoooooo

googo

m 0

goboooooooooobogoboooboooboo
goboooboooooooboobobooo
gbooboboooboobooooboboooboo
gobooooooooobogooogobooooboo
goboooooooooon
gbooboooboobobooboobooboo
gooooooooooobooooooooon
gbobooobcilooboobooooobooboon
gooogo
goooooooooobooooboobobooobooo
gobooooooon
gboboooboo2s00ooobogon

m0000
5] O | 25LPD 320 80LPD
0 O 0O |oobt ooaio00 Ooo!l 001000
0 o o o o | O6em2000 0 6riy 200 O O 0 800 O 5.5m0
Do0DO00O0000O00000 DooDOoDO0000O00O000
00000000 | 0.2MPal 2kgfleriD EEEEEEEEEE
'0 O O |ooooo ooooo
0O o0'o O |0oDoooooo ooooooooo2
i 0 O |ooooooooood OoOo0oogoooo
'0D O O |oooooooo JisiokO O OO
0O 0!0000 |00000000 JsiokoODOOOOOOO
| Jisi0KkoOooOoooooo
00000 | Fc200 FC200
'D O O |SuUs304 SUS3040 O O 320 40
— 0 O 500 0.75kwd O
| 0 0650 3.7kW0 O
i scs130000ogon
'g O |sus3o4aDoooO sus3040 0000
'O00O0|0o00oe20 ‘0Doo20 00020 "ODooz20
ggog 'O O | 100V | 200V 0.15kW0 0 0 | 100V 0.4KWD (1011 200V
Uane 0000000 | 25PD00000IPO0000, D00000IPZ00ME |00000IPI00000,0000001P48000
| 3050LPDI00000IPI@OND! w
'O 0 |loooo loooo oooo | IER0O00D000OPSis
ooooooob?’|oon ‘00 oo 'goooo
01 Do00o0ooo00o0oDoo00o0oo0O0pHs8O860 000000 0O200mg/LO 0000000000 AImg/LO 0O O0OOOOOO m}
02 000OO0O0ODOOOi1o0000000O0OO0O0OO0OO0O0OO0DO0O0OO0ODOOO0OO0O0DO00OUODOO0OODOUO0DODOUOO0ODOO0ODOO0ODOO0OODODOoOooOooOoOoon
ogooooooo
03 000000000 ooooooUUooDooUOoDo00oo0DoD0oU0DoO0UDoOULDW UL OLDoOoOoOooDooOoMm
04 000005000000 0000+20000000000D000OD000ODOUODODOOOsSO0O0O
go00oooOo0oo0oo0oUuooDUoU0UooUUoOUoUUUUooDUoUoDooUoDooo
05 OOoo7skwOoOoOoOoOoooooOoooooOong
06 ODOo7skwd D000 OD0oOO0OO0DODOoOOODODOOoOOOoDODOooOoOO
07 OD0O0DOooU4o00pUogs8sOUoDUoUUooUUoOUom@ooDilIocoOMUI D 00U OoUOUoOUoUUoUoUOoooOoUooOog
08 DooooooDUoooooOmr00000MIP.A41000
00000 e 00000000000
0000000MO0000000025LPDO0...01 ’I:IDI:IDDEIDDDDPEBZEIBOLPDD
Jo000mMmooooooooo3208oLPDOO...O1 o000 000O00000000100000000000000
gooooo ooooooooooooog
000 m 000
0000000025LPDOOO0N 50 LPD 5 15 E
00000 O0IP40 00D DO 032050 o o0 o o oo
ooooo Joooo
000 0400v0 00 0.25kW0 O uommb DOOODDOOO
0 O Oloooo 000 M50 50Hz0 60 60HzO O O [ kwO

134

0msofgooooooog oooomMmEeDOOO
00032000000002500000




( tpoonDOOOO ‘gz LpDO )

SAVE ENERGY PUMP

m J000O50Hz0 00 00O O 3000min®
e (1032080 OOODO

70
60
[1]-52:2E
50 ]
I
40 511E
~ T ==L
i 55.5EH TR
30 52:2E4-53:7E S 57:5E
L TR T ISR
= 53.7E H
~ NN
20 e 51 5E[HLI TS I
5.75E
N
0 15 = < . 5%25 H-5357EHH
O T~ L ‘\\ hillls|= L]
H s4b IS A
mO 10 e = = 52:2F )
9 ™ 5155E 43 N
8 N
7 N 5M4E : 575E
6 NN N 51:5E
5.25E N
5 A 5:75E
117
4 FH 80LPD
5.25E[H54E 65LPD
3 o H
32LPD 40l/PD {1 50LPD
1] [
[ ] ] ]
2 LI | LI
0.03 0.05 01 015 02 03 0405 1.0 15
00000 m/minO
e 02500320500 00000
2 i
15 oooog
i R [ oo [ reoso
10 5255 i\ e I
H IH’:# 3 & I ] -
; 515 i SES S N
0 6 5:15S 30 |
|:| 5 15 \ 2 LPD40
D55 ]
O 4 5/08S é i [ ohun
i S
51055 321 PD{401PD-50LPD T o —
: B =
25[PD 2
1001 0.02 0.03 0.05 0.1 01502 0.30405 0.7 1.0 1.52.0 3.04050 70 10 15
00000 m/mind
1
0.01 0.02 0.03 0.05 0.1 01502 0.3 0.5

00000 m/minQ

135



(oo @ge?) D EEEEEERD

S e
BEEX
1. 818
nE ” 2 | M b_% L 25 | M b_% P 25z BEE | FEHAEND
mn kw m/min m m/min | m dB(A) MPafkgf/cm}
25LPDS. 055 0.05 | 0.020 | 4.5 0.040 | 2.0 41.0 0.20(2.0)
p5 | 25LPDS.08S 0.08 | 0020 | 6.5 0.055 2.2 41.0 0.20{2.0)
25LPDS. 155 0.15 | 0.020 | 10.0 0.060 | 5.5 46.5 0.20(2.0)
25LPDS. 255 0.25 | 0.020 | 13.5 0.0600 | 8.5 46.5 0.20(2.0)
4y | 32LPD5.255 0.25 | 0040 L1 0150 3.8 50.0 0.56(5. 7)
32LPDS. 45 0.4 0.040 | 15.8 0.150 1.8 51.0 0.51(5.2)
40 | 40LPD5.255 025 | 0070 | 7.9 0200 3.4 50.0 0.60(6. 1)
40LPDS. 45 0.4 0.070 © 11.9 0.250 | 4.6 51.0 0.56(5. 7)
50 | 50LPDS. 4S 0.4 0.120 | 9.4 0.320 | 3.8 51.0 0.58(5.9)
2.=%H
oo Q0000 D0 | 0000 @ 000 | 0000 @ 000 000 (000000
mm kw m/min m] m/min | ] dBl AQ MPal kgf/emJ
25 | 25LPD5.15 015 | 0020 | 100 0060 | 55 42.0 0.20 2.000
32LPD5.25E 025 | 0040 | 112 0150 | 48 45.0 0.69 7.00
32 | 32LPD5.4E 0.4 0040 | 149 0150 | 95 51.0 0.69 7.00
32LPD5.75E 075 | 0040 ' 246 0150 | 1538 51.0 0.69 7.00
40LPD5.25E 025 | 0070 | 80 0200 | 44 45.0 0.6 7.001
40LPDS5.4E 0.4 0.070 | 12,0 0250 | 5.2 45.0 0.69 7.00
40 | 40LPD5.75E 075 | 0070 | 184 0250 | 122 51.0 0.69 7.00
40LPD51.5E 15 0040 | 282 0250 | 226 51.0 0.68 7.000
40LPD52.2E 2.2 0040 ' 374 0200 ' 340 54.0 0.6[ 6.201
50LPD5.4E 0.4 0120 | 89 0320 | 46 45.0 0.69 7.00
50LPD5.75E 075 | 0120 | 151 0400 | 6.9 51.0 0.681 7.00
50 |50LPD51.5E 15 0120 | 225 0400 | 159 55.8 0.69 7.00
50LPD52.2E 2.2 0160 | 285 0320 | 214 54.0 0.69 7.00
50LPD53.7E 3.7 0100 | 436 0320 | 324 56.0 0.55/ 5.601
65LPD5.75E 075 | 0250 1 97 0550 | 59 43.2 0.68 7.000
65LPD51.5E 15 0250 | 158 0600 | 107 51.0 0.68 7.00
65 |65LPD52.2E 2.2 0250 | 225 0600 | 139 54.0 0.69 7.00
65LPD53.7E 3.7 0250 | 334 0600 | 254 56.0 0.65] 6.601
65LPD55.5E 55 0200 | 433 0600 | 340 61.0 0.55/ 5.601
80LPD51.5E 15 0400 | 111 1050 1 57 55.0 0.6 7.00
80LPD52.2E 2.2 0400 | 139 1200 | 7.2 57.0 0.68 7.000
80LPD53.7E 3.7 0400 1 217 1200 | 140 56.0 0.691 7.00]
80 I"soLpDS5 58 55 0400 | 290 1200 | 211 61.0 0.69 7.00
80LPD57.5E 75 0400 | 382 1200 | 29.6 62.0 0.60 6.1
80LPD511E 11 0400 | 499 1200 | 417 65.0 0.49 4.901

136



( tpoonDOOOO (SE\‘) LPDO )

SAVE ENERGY PUMP

s 0000000000 0OD0OOsSCS130

|

W

goooooooooo

0o ooo ooo
111-1 | 00000 gooooo
111-2 |O000000 |O0000
111-3 | 00000 SUS304
111-4 | 0000 0 O/NBR
0000000000000000a
107-1 | 000000 CAC406 1 830 0o SUS304 1
048 oooogod SUS304 1 800 ood 1
021 ooo SCS13 1 211 oooogd C3604BD 1
018 ooooo FC200 1 115 oonoad NBR 1
010 ooooo SUS304 2 111 gooooooo 1
001 ooooo FC200 1 107-2 |O000O0OOO CAC406 1
oo ooo 0ooo oo oo ooo ooo oo

137



( LpoO

Ss=

LPDOCOOOOODO )

‘SAVE ENERGY PUMP.

0000000000000 00000000DO0O0D0OOoOO
g2sLpDOOOO0O0OO0

T e
} 1/8B
3 % g s
[l
; =
L
o a . N
ol {7
BRI ER W
AIR VENT PLUG =) MI‘\l
1/88 AL 1
K I - k@
l { READING WIRE
8 E %E%lggmm
PW SA
HAER1=
PIPE UNION
g25LpPDOOOOOOOO
A B BaE75 )
AIR VENT PLUG
MW 1/88B
o
[m)
. W]
I
H /\ _
<N 7
J
(=)
2
EREER [ |
AIR VENT PLUG
1/88 2 5
PW SA
HABR1-AY
PIPE UNION
BAAT :omm
(mEe3 W R v 7 R U E B # BHE
SA & % W 18 K
DA A| B | D]|E I | PW [MWI| MW | J G | SG | DG | %8
25LPD5. 05S 0.05 51 | 193 | 100 | 100 | 116 | 127 | 92 - 32 |52.5| 25 25 "
Rl 25LPD5. 08S 0.08 oy 51 [ 193 | 100 | 100 | 116 | 127 | 92 - 32 |52.5| 25 25 1"
25LPD5. 15S 0.15 51 | 215 | 120 | 120 | 154 | 160 | 98 - 32 |52.5| 25 25 13
25LPD5. 25S 0.25 51 | 225 | 120 | 120 | 154 | 160 | 98 - 32 |52.5| 25 25 14
Rcl | 25LPD5. 15 0.15|=#8| 51 | 200 | 120 | 120 | 116 | 160 | — | 116 | 15 15 25 25 15

138




(LPDDDDDDDD

Ss=7

=>  LPDO )

000000000000 00000000O00O0O000O0OO
g3z0s0LpDOO000oooon

I
C'Q

aph
AIR VENT VALVE
SAV-1/88 Mfca

L .

3 _ s
La+$ E———— é+La,k4,
/‘1_ <C
W LERERA kL7570 BAERERR

FOR DISCHARGE

PRESSURE GAUGE

O3z208oLPDOOOOOOODO

DRAIN PLUG

PRESSURE _GAUGE

757f3/8B
PLUG
>/ =
7 =
*+7H4¥h -7
~_POWER CABLE
CLmm
I
C'Q
ah
AIR VENT VALVE
SAV-1/8B
o
3 J b
=15 =
g <
i LR kv757 SAERERX

FOR DISCHARGE

PRESSURE GAUGE

777113/8B
PLUG

DRAIN PLUG

PRESSURE _GAUGE

SAVE ENERGY PUMP

gooooooooooooobooooboboooobooooobooboOoooooooboOoooog

BT : mm
A% i R v 7 R U E B # s
SA % W 8 k
DA A B D E I PW MW CL 4
32 32LPD5. 25S 0.25 w4 68 284 140 140 130 196 95 200 19
32LPD5. 4S 0.4 68 309 140 140 130 196 95 200 21
0 40LPD5. 25S 0.25 w4 12 284 155 145 130 200 95 200 20
40LPD5. 4S 0.4 T2 309 155 145 130 200 95 200 22
50 | 50LPD5. 4S 0.4 | 248 19 319 160 150 130 207 95 200 23

139



(oo Cge”) D EEEEEERD

SAVE ENERGY PO
000 mm
oo
A R Dkv\? . Joooooooooooooo Dks
DA A B D E | PW MW G J
32LPD5.25E 0.25 68 262 140 140 150 255 146 15 G3/4 23
32 | 32LPD5.4E 04 |00 68 282 140 140 150 255 146 15 G3/4 25
32LPD5.75E 0.75 68 295 140 140 170 260 151 15 G3/4 25
40LPD5.25E 0.25 72 262 155 145 150 258 146 15 G3/4 24
40LPD5.4E 0.4 72 282 155 145 150 258 146 15 G3/4 26
40 | 40LPD5.75E 07500 72 295 155 145 170 263 151 15 G3/4 26
40LPD51.5E 15 72 324 155 145 188 261 142 0 G3/4 32
40LPD52.2E 2.2 87 413 170 170 188 267 142 0 G3/4 43
50LPD5.4E 0.4 79 334 160 150 150 248 150 15 G3/4 24
50LPD5.75E 0.75 79 305 160 150 170 270 151 15 G3/4 28
50 | 50LPD51.5E 15 |00 79 334 160 150 188 268 142 0 G3/4 34
50LPD52.2E 2.2 83 420 150 160 188 267 142 0 G3/4 43
50LPD53.7E 3.7 95 444 165 175 202 274 156 0 G3/4 53
65LPD5.75E 0.75 90 364 170 170 170 267 158 26 G3/4 31
65LPD51.5E 15 90 403 170 170 188 258 142 0 G3/4 37
65 | 65LPD52.2E 22 |00 90 429 170 170 188 260 142 0 G3/4 44
65LPD53.7E 3.7 95 451 185 185 202 283 156 0 G3/4 57
65LPD55.5E 55 95 505 180 190 243 382 242 0 Gltk | 80
80LPD51.5E 15 110 403 200 190 188 277 142 0 G3/4 42
80LPD52.2E 2.2 110 427 200 190 188 277 142 0 G3/4 45
80LPD53.7E 3.7 110 481 200 190 202 289 156 0 G3/4 58
80 80LPD55.5E 55 o 110 510 200 190 243 375 242 0 G1lth 76
80LPD57.5E 7.5 110 521 220 210 285 410 266 0 G1t: | 107
80LPD511E 11 110 629 215 215 324 436 280 0 G1ltk, | 165
R 0000000
goood LPDMI ¢ 251 2P-50Hz
0od ooogd oooogog ooooo
o 00 |00 |ooooyoo |00 |jbbooo|oooo oo
o 0 kw v A | minot | O 0 0 A Ooooo |00 ooao oooog
0.05| 100 | 1.1 | 2910 | 98.0 | 52.1 140 5.2 E [6202ZZC3|6202Z2ZC3
0 ooooo
O oo
B 0 0.08 | 100 | 1.6 | 2820 | 98.6 | 54.8 85 5.2 E |6202ZZC3|6202ZZC3
O
E IPDZO 0.15 | 100 | 3.6 | 2840 | 72.0 | 60.8 266 12.7 00000 E |6202DDW | 6202ZZ
oooo 0o
0.25| 100 | 49 | 2895 | 745 | 73.3 262 23.7 E |6202DDW/| 62022Z
O | IP22
0 booo 0.15 | 200 | 0.9 | 2865 | 75.7 | 74.3 248 4.2 ooog E |6202DDW| 620277

140



( tpoonDOOOO <5é> LPDO )

0Oooo0ood LPDI ¢ 320 80 2P-50Hz
0Q ooooo 0oooo ooooo
BY S oToo noooloo (oo [poooofooooe H
kw ooo
ol O v9 a lmeil ol o . A oooxQ oooQ 0oooo
gooo| 0.25[100| 55 | 2820 [76.0 [63.0 | 220 22 E | 6204DDW | 6202VV
P10 ooooo
oQ
o POO0 04 |100| 7.6 | 2840 [80.2 |67.3 | 220 37 E | 6204DDW | 6202V
0
01001 025|100| 58 | 2900 |70.9 [64.1 | 250 27 E | 6204DDW | 62022Z
ooo ooooo
1P40 00
hoog 04 |100| 80 | 2900 [79.1 |66.9 | 225 37 E | 6204DDW | 62032Z
200| 1.3 785 |77.3| 378 8.9
0.25 2880 E | 6204DDW | 62032Z
400| 0.65 775|779 | 396 4.6
200 | 2.0 775 (80.3 | 541 17.4
0.4 2890 E | 6204DDW | 6203zZ
400| 1.0 772|792 | 496 8.4
200| 3.3 19.5
0.75 2875 |86.8 |80.8 | 223 F |6205DDWC3|620422C3
400 | 1.65 9.75
O oooo
O 200| 6.4 52.0
1.5 2890 |87.1 |86.4 | 401 F |6306DDWC3|63042ZC3
. g 400 | 3.2 26.0
ol o 200| 9.4 79.8
O | paa| 22 2880 |85.4 |86.5 | 352 F |6306DDWC3|63042ZC3
400 | 4.7 36.9
0O [0ooo
200 | 15.2 130
3.7 2885 |88.2 |87.8 | 393 F |6307DDWC3|630522C3
400| 7.6 65.0
200 | 21.6 244
55 2935 |88.4 |90.0 | 475 F |6309DDWC3|63062ZC3
400 | 10.8 122 ooo
200 | 27.6 218 000
75 2910 |87.5 |90.7 | 334 F |6309DDWC3|620822C3
400 | 13.8 100 poooo
200 |41.2 274 ooooo
11 2925 |87.1 |91.6 | 236 F |6309DDWC3|620822C3
400 | 20.6 137
0000000000000000000000000
m 000
3 ooo Oooooo
WV, - Lo
SO/ E | S N I CEE L S
INa! = \ % — A ] }U
3 /

Oo0ooooooooo2sipbs.asgdogdggipo000000

141



